Lo PARIUA L

- f\:d’q ﬁE"\E oA — ) \Q\
Yo A . n = 3326 T/w A = jﬁ L4 s T, = f2V2 1022 v
A-2 iseteRAMo o ne,
Z-=z, Clv) = «V —
-1 AD\.ABA’Y\:(;_ ?AM& '\‘) ?"‘\JT’ = P% \\133
P ! gy . -1
_—*_N_‘_.l,,h_ S \/ 1 : T,‘ \J';\ = ‘r-‘\})
D | AoYw B 1 Y
1% o5\ ; o2 ,
| LM{\V )4 \V‘r‘f‘\“‘“<vg\ —» ¥ =N
T ) V4
@ | azw | 300 | (082
- T 7 _'—“L?-“ ? &\)Z =
. 8 = K = NKT;
® | eaw| 2213 | oo passer) Ty Ny = nRTy l ’ i
i
Py =={ N5 J Ny = 2413 0w
Py= 2RI o vl / ’
NA VYy= Y2~ gl w®
P2 Nz = B2 KFa 451
@y Ay, = R T, a \:li\} A Qg = DO “Wlav / (;u-.—-_;“pv &—rs_-\-13=_“\f> wy
- V4
3
Wap, = - S PO N = %(\i}‘_"_ﬂi\‘ = 905%s Qan = = 49 ey
) - 3)
\
DL e B N XA
\Qu 5%
9 As, _ =d _ lew 20 T/u .
To Tw
S S P T
o o~
Yeog 2 - Ls onw AT D DS W Lg= {00w L= \4UD N{m . | ;
34
(% \’1 = A)(,’ = 0'0'7_‘(\/\’5 ?/\ = ?o _\, W\z § -_ 17_4 K¥a }
A. i
- Ao _ P4 ' -
Ty=20°%C = 29% 6w, Who= 21 _ g 255 Tf
Ta .

Y"L =Py = 224 KFa. N,

= AXZ = O|06 ‘\’\3 (XZ?"\\DW\)- b4 13
T, = P2N2 = 133 . ! * T
nEy T
' * g
Tyo= Pl 9h2 L 139 wla Vi= A%y = 003w (Xy= A6wa)
A
b) T} = /K}*\l.? 1223FK . - a7 T":
(8%
3,42 w3
P,
9 Qus %m (t3-T) = 408 KT Q) = Z;.nmhg-“h) =~ Mgy = 0wy
R
Wz;) = -‘)1(\1‘5—\1‘23 - ...‘f_ (V;“;} = - 3’6’5~— O’)‘-Q z—?)!gq \LT
LA* )
H o Mu- bogt bog = Zwa (2)y v\mu(l‘z)_ lovt e 3y
2 T1 V/\ Tj
‘\/'*——-——-—n-———-w’ \..,-‘_V/«—-l
VD, %0 4 AN, 1Y NS

R —— (P

30,1y




Proe = | n= 2

@*"3‘

x

A

o= 4B Cy= 3R T= 4570 = T\

M=o oz Uy Taa = 2870 = 248 K0

a

= Q C |

MR C AV

Q.= nov (Tp ~Tag) = - 2,246 w3

Qg\ﬁ—q\—\ / (Q\,\z VV\‘C\) QT%——T",‘W-\-‘(Y\‘“{\_:"QQ

m' =~ Qe -y (Te-Tan, - %{HL{X/\/ "\__Q:;D"C:-




